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1 |Bepasincbka 27 6 | 21 7 1 19120 | 7 7
2 |BacuiiBchbKka 25 1 24 6 2 17 | 25
3 |BeamnkoGino3epcbka 20 2 18 1 3 16 | 20
4 [BeceaiBcbka 19 2 17 4 15 | 14 5 4 1
5 |BinbHsIHCHKA 28 9 19 6 7 15 | 21 7 5 6
6 |Iyasiiimiabcbka 33 12 | 21 13 ] 4 16 | 23 8 8 2 8
7 |3amopi3bka 25 7 18 10 ] 2 13 | 22 3 3 3
8 [K-[nimpoBcbka 16 9 7 12 4 [ 16
9 |KyiidneBcbKka 17 17 2 1 14 | 17
10 [Mexaitonoaschka 22 1 21 4 18 | 15 7 1 7
11 |MuxaiigiBcbKa 17 17 3 9 5 14 3 3
12 |HoBoMuKo.1aiBchbKa 17 17 2 15 | 14 3 1 3
13 |OpixiBcbka 20 2 | 18 4 2 |14 17| 3 3 3
14 |HosoriBchka 21 21 6 15 | 13 8 6 8
15 |Ilpua3oBcbka 20 20 5 1 14 | 20
16 [[pumopchka 20 4 15 1 7 1 12 | 16 [ 4 4 4
17 |PosiBchka 23 4 19 7 1 15 | 23
18 |Tokmanbka 17 1 16 3 14 | 14 3 3
19 |YepHiriBcbka 17 3 |14 5 2 |10 14| 3 3
20 |SIkumiBchbKa 18 2 16 6 12 | 17 1 1
BCHOTI'O: 422 65 | 356| O 1 0 [113] 36 | 273 | 355| 65 38 2 57 0 0




